DAY 5 - CBL WORKSHOP
JANENDRA KUMAR YADAV
LIVE WORKSHEET

1.If length of base of Parallelogram is 22cm then what
is the Radius of the corresponding circle?

A. 14cm B. 14mm C. 7cm D. 7mm

2. Find the area of the Parallelogram in above case.

A. 144cm? B. 154cm? C.77cm? D. 22cm?



3. If Area of Circle is 616cm?, then what is the Distance
(h) between the two Parallel sides of the following
Parallelogram.
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A. 14cm B. 7cm C. 22cm D. 14mm

4. If the radius of circle be 7mm, then find length of
the base of Parallelogram
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A.21cm B. 25mm C. 22mm D. 44cm



5. In above case, What is the ratio of Radius of Circle
and Length of BASE of parallelogram.

A.1:3 B.7:22 C.7:21 D207



